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General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 49 /HIS/1-A on the Answer-Book.

(a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS
( 31T )

(214)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 H0e ] [ qurie : 100
Note : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3)  Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

fder: (1) wft ww i €
(2) TAH T F 3k Ik WEA A T
(3) TS U¥T HAE 1§ 8§ T, TA® YT § =R qahfeqsh W (A), (B), (Q)
3R (D) fed ™ ¥ 579 @t TE a1 waitus sfaa 1 9 SR g qen ot
SR-YRAT H W I HhAG o A foAiad |

1.  Private goods are those goods : 1
(A) which are exclusively enjoyed by the individuals.
(B) which are available in abundance.
(C) which are available without any discrimination.
(D) which are free gifts of nature.

fsit oqd 3 aeqU Bl €

(A) 9= 37 @t € = wam w1
(B) STl Ial H SucTsd Biell € |

(C) il fo foRel 9g-9ra < 3ueTeY B & |
(D) S JHfd i 1.9k STRR 2t €1

2.  Freedom of enterprise is a main characteristic of : 1
(A) Socialist economy (B) Mixed economy
(C) Capitalist economy (D) None of the above
STH T WA 3HHT & fomiva §
(A) FENER ST (B) Tufsra stefereren
(C) YSiamet stefezrereen (D) W= H 9 F5 Tl
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3.  Resource allocation in a planned economic system is based on :
(A) Principle of Profit maximization
(B) Principle of social welfare
(C) Combined Principle of Profit maximization and social welfare
(D) None of the above

frnfsa enfefer qomed! & SETEAT o1 3TEe 39 T AT BT © ;@
(A) STfyshan oY & faga W

(B) IR Fedmol o fagm W
(C) STfeha™ TN T WIHISIh el & HIa G T
(D) e H | g Tl

4.  Departmental enterprises are under the control of :
(A) Foreign Production units
(B) Private Production units
(C) Government Production units
(D) None of the above

fayrTg oW 37@? IRRENE: _‘éﬁ % :
(A) Toeh Scre STl

(B) frsft Seures sehreal

(C) TRHN SR THhieal

(D) STdw ¥ q =1E T

5.  Cost of self supplied factors refers to :

(A) Implicit Cost (B) Fixed Cost
(C) Variable Cost (D) Explicit Cost
w7 3 T Mgl P ST A e o A E

(A) IR AN (B) Terarma
(C) afRadl arrd (D) ¥ AR

6.  When the quantity supplied of a good is more than the quantity demanded at a given
price, this is the situation of :

(A) Excess Demand (B) Excess Supply
(C) Equilibrium (D) None of the above

STel &Y T hiTd W T S At SATfd Ht A STHRT T w1 A @ e €t €, @ I feafa
FEAT

(A) T =i (B) fd iR
(C) ¥ (D) ST ¥ & & Tl
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7.  Mass data in unorganised form are called : 1
(A) Primary data (B) Secondary data
(C) Raw data (D) Array
3T &9 H SThel % T HEA ¢
(A) Wik Aiwg (B) Tediash atihg
(©) s we (D) =
8.  In case of cheating the consumer can get compensation by using : 1
(A) Right to information (B) Right to seek Redressal
(C) Right to be Heard (D) Right to consumer education
ST % A § IYIST ST TANT ok AT YT 3 Fehll ¢
(A)  FEAT HT AR (B) HI&TU YT T A1 SHYFHR
(C) G STH T ATHR (D) s freT 1 AR
9. Give two examples of free goods used by you in daily life and justify why are they 2
called free goods ?
3o <fTeh STiae | YT T ST et &Y T 3[es aeget & Sereor Siferd iR eiifaea <ifsa fo
3 9370 IqT i e ¢ 2
10. State any two of the salient features of an economy. 2
T refeawen & e favmdet § @ fewi g &1 Sear@ Sifer |
11. Why in Corporations and government enterprises generally there is the use of Capital 2
intensive technology ?
Tt 3R TR Sewl | ScHe i YT e ekt 1 TN Hil el § 2
12. If 96 units of output are produced and the Total Fixed Cost is Rs. 360 alongwith a Total 2
Variable Cost of Rs. 600. Calculate the Average Cost of Production.
afg 96 SHTEAT T ST BT § AU Fol TR AN 360 %. 3R Fol Ufkadt @rtd 600 €. € @
ICATEA i STEA AT i TOHT A |
13. How do the ‘number of buyers’ buying a commodity determine the market demand for 2
that commodity ?
TRt % ®1 A HIA TS halell w HESAT 39 T HT TSR T & HY Fiia wdt T2
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14. Draw a supply Curve with the help of the data given below :
Price (Rs. Per unit) 1 2 3 4 5
Quantity Supplied (in units) 50 100 150 200 250
frefafed stiwel 1 werd 9 $yfd =k aamEd
A (. i 3hTE) 1 2 3 4 5
Fqfd 1 AE0 (3Rl H) 50 100 150 200 250
15. What is the ‘lack of double coincidence of wants” in the barter system.
a5 fafm gomeft & ¢ srervaehdeii 1 Sed SAr' = el § ?
16. Distinguish between a variable and an attribute.
TSR I F 4T HIfH |
17. Define Soil degradation. Give one major cause of soil degradation.
offt o =itz st 9l ST gfa & =i &1 T 7@ R i |
18. Suppose you purchased a pressure cooker which bursted out when used and caused
grave burn injuries on you. Explain the appropriate consumer right under which you
will file your complaint.
M ST, AT Tk GIR HoT IR 51 FAN T T e T 189 e & HRT AR TR
&fd g2 | SUMIR o 3T IUYH STTHHN h A HifSd 5k SA=iq 19 791 frehrrd Y
THd 2|
19. Economics is being treated as ‘Science of Sustainable Development.” Explain how ?
STfTE 1 Aot foerd i1 famm | e S | weesd Y 2
20. Explain ‘Freedom of Enterprise” as one of the main characterstics of a capitalist economy.
YofaTel STeferaen i Uk qe fomivdr & &9 | ' 3aq it WA’ w uensd |
21. Explain the law of diminishing Marginal Product of Labour with the help of a relevant
schedule.
Teh YT SETeX0T i HerEdl § 49 o HIH Scaiaehdl g 2 1 q9esd |
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22.  What is meant by the market price of the commodity ? Give the three important factors 4
which influence the decision of a seller in fixing the price of a commodity.

et o 1 STSIR hi9d & o AU 2 3 ffF Aewqul wRen 1 3ot wiferd s fRet
T HI HTd F fea w0 F ww foshar & fofa 1 genfaa @ €2

23. Define Insurance. Distinguish between health insurance and life insurance. 4

T T IR Y| TEed <A1 991 Sitad s § A SIS |

24. Suppose there is only one bank in the economy and it has decided to keep Cash Reserve 4
Ratio as 20%. Explain Stepwise the process of credit creation by this bank. (Give a
relevant example)

M e, srefeqasen H %ad UHh & 9 T a°1 369 20% 7ehe STRETT ST WA &l (9=
fRa B 1 39 S 5N ARG Yol H1 YT 1 =R0TEG HHSAEA | (U WTEATR IR i 1)

25. State any four features of Statistics. 4

Hifersh! w1 fohwel o foRioamstl 1 Seore it |

26. Distinguish between discrete series and continuous series. 4

fafese sj@en qen sifafess @ # 9 Hifsd |

27. Calculate arithmetic mean from the data given below, using short cut method : 4

Marks : 0-5|5-10|10-15]|15-20|20-25(25-30
No. of Students:| 5 | 15 | 20 30 20 10

oy fafy &1 wam w gu feifafed siiwel @ 9amR @1eg 1 T S

K ED 0-5(5-10[10-15|15-20{20-25 |25-30
faemfi st gen| 5| 15 20 | 30 | 20 | 10

28. Explain the land revenue system introduced by the British in India. 4

SIS g YRA § URF & T8 o T JOTeH shi ST HifT |

29. ‘In India around 78.5 crore out of 121 crore people belong to below 35 years of age.’ 4
What does this imply ? Is it a positive or negative thing for the economy ? Explain.

‘aRd H 121 S AN H W T 785 FAS 3590 W FH A K | TG F1 Giad HIa1 § 2
sreferaen & ford o1 9% 9FTcHS =S § ST SRS 7 SHeEd |
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30. State four reasons for the need for consumer awareness in India.

O H SYTRT-SINTSehdl & o8 O RO &1 Seei@ it |

31. Explain the factors responsible for the upward slope of the supply curve.
AYfd =k o S h1 AR TAM o o1 TR FhT 1 AT HifS |

32. State any four changes in the features of Indian economy after independence.

Al % ITE ARAE STderaee i favdel ¥ fed uw uieddl # oo Hifed |

33. Explain any three points of importance of service sector in the Indian economy.

AT STefeaee | 9ol &5 o Hg & fohwal div [ogall sl ST ShIfT |

34. State :
(a) any four major sources of noise pollution

(b) any two effects of noise pollution.

W’@W:
(a) =AM IgUU & I AR A & |
(b) =AfT ISV % g & I9E |
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